= (2000) 1 (2200) 1 (2220) 1 (2228) :(110) [ 1[ ]
2000 [ 0 140,000 0]
12,730,000 12,020,000 710,000 [ 0 0 12,590,000 ]
2200 [ 0 140,000 0]
12,730,000 12,020,000 710,000 [ 0 0 12,590,000 ]
2220 [ 0 140,000 0]
12,730,000 12,020,000 710,000 [ 0 0 12,590,000 ]
2228 [ 0 140,000 0]
12,730,000 12,020,000 710,000 [ 0 0 12,590,000 ]
100
557,366 493,784 63,582
110
113,210 106,233 6,977
101
113,210 106,233 6,977
94,080 90,371 3,709 |09
38,630 x4 x4 x12 x50% = 3,709
19,130 15,862 3,26810
( 1
31,300 x4 X2 X6 X2 = 3,005
3,005,000 x8.74% = 263
120
444,156 387,551 56,605
201
388,857 342,332 46,525




= (2000) 1 (2200) 1 (2220) 1 (2228) :(120) [ 1[ ]
388,857 342,332 46,525 |01
2,700
( 2 )
(1,500,000 x3 )- (600,000 x3 ) = 2,700
175
(3,850,000 )- (4,025,000 ) = 175
14,000
( ’ ’ ’ ’
(18,000,000 x1 )- (4,000,000 x1 ) = 14,000
30,000
( 3
(15,000,000 x4 )- (10,000,000 x4 )
= 20,000
( 3
(4,000,000 x4 )- (1,500,000 x4
= 10,000
202
45,760 35,680 10,080
45,760 35,680 10,080|01
10,080




- (2000) = (2200) = (2220) 1 (2228) 1(120) [ m - 1
- 20,000 x21 x4 x6 10,080
200 [ 0 140,000 0]
10,850,503 10,291,263 559,240 [ 0 0 10,710,503 ]
220
10,380,140 9,820,900 559,240
206
19,640 7,500 12,140 12,140
- 3,800 x300 1,140
- 20,000 x100 2,000
- 120,000 x75 9,000
207
45,000 20,000 25,000
45,000 20,000 25,000 02
25,000,000 x1 25,000
401
9,614,800 9,092,700 522,100
9,598,100 9,076,800 521,300|01
171,300
3,000,000,000 x3.71/100 111,300




= (2000) 1 (2200) 1 (2220) 1 (2228) 1(220) [ 1[ ]
40,000,000 x1 = 40,000
20,000,000 x1 = 20,000
18 ( 1 ,L=650m,D=500m)
170,000
(30,000,000 x1 )- (8,160,000 x1 ) = 21,840
-191,840,000 = 191,840
18 120,000
G )
100,000,000 x1 = 100,000
@) 20,000,000 x1 = 20,000
(1,200,000,000 x1 )- (800,000,000 x1 )
= 400,000
16,700 15,900 80003
(6,680,000,000 x0.25/100)
- (6,360,000,000 x0.25/100) = 800
400
1,322,131 1,234,953 87,178
410
1,191,184 1,104,006 87,178




= (2000) 1 (2200) 1 (2220) 1 (2228) 1 (410) [ 1[ ]
801
1,191,184 1,104,006 87,178
(1,191,184,000 )-  (1,104,006,000 ) = 87,178
12,730,000 12,020,000 710,000
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